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Objects as Arguments

1~ class distance]

2 int feet;

3 int inches;

4 distance()

5 {1

6 distance(int x , int y)

7 {

8 feat=x;

4 inches=y;
1@ }
11 vold displaydistance()
12 - {
13 System.out.println(feet+” feet”
14 }
15 vold addDistance(distance one,distance two)
16~ {
17 feet=one.feet+two. feet;
18 inches=one.inches+two.inches;
19 if(inches»=12)
20 - {
21 feet+s;
22 inches=inches-12;
23 }
24
25 t
26 }//distance type created
27

+inches+"

inchess");
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28 - class Executedistance2{

20

30 - public static void main(5tring[] args) {

31 distance dl=new distance(l1e,9);

32 System.out.println{"the first distance is :");
33 dl.displaydistance();

34 distance d2=new distance(9,1@);

35 System.out.println({"the second distance is :");
36 d2.displaydistance();

37 distance d3=new distance();

38 d3.addDistance(dl,d2);

39 System.out.println{"the sum of their distance is :");
48 d3.displaydistance();

41

42 }

43

44 '}

45
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P-1Terminal

sh-4.3% javac Executedistancel.java
sh-4.3% java Executedistance2

the first distance is :

18 feet 9 inchess

the second distance is :

9 feet 18 inchess

the sum of thelir distance is :
28 feet 7 inchess

sh-4.3% |
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Method returning Objects

1~ class distance{
2 int feet;

3 int inches;

4 distance(int x , int y)

5~ i

6 feet=x;

7 inches=y;

8 }

9 vold displaydistance()

18 ~ {

11 System.out.println{feet+"” feet"+inches+" inchess");
12 }

13 static distance add (distance one,distance two)
14 ~ {

15 int f=one.feet+two.feet;

16 int i=one.inches+two.inches;
17 if(i»=12)

18 ~ {

19 f++;

208 i=1-12;

21 }

22 distance d=new distance(f,1i);
23 return d;

24 +

25 }//distance type created
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27~ class Executedistance {

28

29 - public static void main(String[] args) {

30 distance dl=new distance(18,9);

31 System.out.println{"the first distance is :");
32 dl.displaydistance();

33 distance d2=new distance(9,18);

34 System.out.println{"the second distance is :");
35 d2.displaydistance();

36 distance sum=distance.add(dl,d2);

37 System.out.println{"the sum of their distance is :");
38 sum.displaydistance();

38 :

-~ ) P-1Terminal

41 sh-4.3% javac Executedistance.java

42 1 sh-4.3% java Executedistance

43 the first distance is :

18 feet 9 inchess
the second distance is :

9 feet 18 inchess

the sum of their distance is :
28 feet 7 inchess

sh-4.3%
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Using Command-Line Arguments

1~ public class CommandLine [

2

3 - public static void main(5tring args[]){

4 - for{int i=8; i<args.length; i++){

5 System.out.println("args[™ + 1 + "]: " + args[i]);
6 t

7 } P-]1Terminal

8 }

sh-4.3% javac CommandLine.java

sh-4.3% java CommandLine All the best for your Mid Term Examinations
args[6]: All

args[1]: the

args[2]: best

args[3]: for

args[4]: your
args[5]: Mid

args[6]: Term
args[7]: Examinations
sh-4.3%
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Passing Arrays to Methods

1
2
3~

WoBa =l houn s

1@

12
13
14
15
16
17
18 ~
19
28
21~
22
23
24
25
26

lET-"

import java.util.Scanner;
public class FindSum

{

}

/}'b ~fo -lo

public static void main (5tring [ ] args)
{
int [ ] number = new int [ 1@]; /f instantiate the array I ‘{]gl” :

int 1i; T
int sum=0; 023{3[
Scanner in = new Scanner{System.in); ;7ﬂ

for ( 1 =8; 1 < 18; i++ ) ff fill the array Nl Vza( ’

number[ 1 ] = in.nextInt(); )y
/ <

sum = find_sum{number); {/ invoke the method
System.out.println{“"The sum is"+ " "| +sum + ".");

}
public static int find sum(int [ ] wvalue) //method definition to find sum
{ /
int i, total = @;
for(i=8; i<1@; i++)
{

total = total + value[ i ];
}

return total;
} KEE NN N



P-1Terminal

sh-4.3% javac FindSum.java
sh-4.3% java FindSum
18 28 38 48 58 6P /8 830 98 188

The sum 1s 558.
sh-4.3% §
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Java passes reference by value

1 dimport java.util.Scanner;
2 public class Modify

3~ {

4 public static void main (String [ ] args)

5 - {

6 int [ ] number = new int [3]; [/ instantiate the array
7 int 1i;

8 int sum=8;

9 Scanner in = new Scanner(System.in);

16 System.out.println{"Outside method”);

11 for ( 1 =8; 1 < 3; i++ ) ff fill the array

12 {number[ 1 ] = i+l;

13 it (i==2)

14 System.out.println{™ " +number[i]);

15 else

16 System.out.print(” " +number[i]);

17 }

18 System.out.println({"Reference of an Array number " +number);
19 modify _array(number); f/ invoke the method

20

21 }

22
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23 public static void modify array(int [ ] value) //method definition to find sum

24 ~ {

25 int i;

26 System.out.println("Inside method");

27 for{i=0; 1<3; i++)

28 {value[ 1 ]=-18;

24 if (i==2)

38 System.out.println(™ " +value[i]);
31 alse

32 System.out.print(”™ " +value[i]);

33 }

34 System.out.println("Reference of an Array value " +value);
35

36 } B=]Terminal

37}

sh-4.3% javac Modify.java
sh-4.3% java Modify
Outside method
1 2 3
Reference of an Array number [I@5c647e85

Inside method

-18 -1 -18@
Reference of an Array value [I@5c647e85
sh-4.3%
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WAP using a method to find the number of elements in a
given integer array which are divisible by 7. Pass this array
iIn the method.
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1 import java.util.Scanner;
2 public class FindDiv7

3+ 1

4 public static void main (String [ ] args)

5~ {

6 int [ ] number = new int [ 1@]; /f instantiate the array

7 int i;

8 Scanner in = new Scanner(System.in);

9 for ( 1 =8; 1 < 18; i++ ) /f fill the array

18 number[ i ] = in.nextInt();

11

12 int count = find_div_by_ 7{number); // invoke the method

13 System.out.println{"The count is"+ " " +count + ".");

14 }

15

16 public static int find_div_by 7(int [ ] value) //method definition to find sum
17 - {

18 int i, count = @; - | Terminal

19 for(i=0; i<1@; i++)
= s sh-4.3% javac FindDiv7.java
21 ++count; . . -

59 } sh-4.3% java FindDiv7

i . . 7 14 21 48 58 686 /8 86 986 168

return count; u
. ) The count is 4.
26} sh-4.3% |




JAVA

 Javais pass by value. Well, pass by reference value.

 Ohwell, even better is pass—by—LcEpy—of—the-variabI%—vaIue!

)
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